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The appropriate method to study the behaviour of animals and
mental patients is

1. Introspection method
2. Experimental method
3. Longitudinal method

4. Observation method
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The Scientist who stated that the children are born with innate
language abilities.

l. Skinner

2 Chomsky

3. Bandura

4 Watson
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Not attending to the interview assuming that I will not get the job
because thousands of people are attending to the interview for only
very few jobs, defence mechanism adopted here is

1. Withdrawal
2. Regression

3. Reversing motive
4. Sublimation
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A student is able to draw pictures efficiently without any training
because of his

1. Attitude

2. Aptitude

3. Interest

4. Experience
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According to Gardner the intelligence possessed by the sports men is
1. Bodily kinaesthetic intelligence

2 Interpersonal intelligence

3. Naturalistic intelligence

4 Visual spacial intelligence
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The painful emotional state created in a person as a result of
contrasting desires.

1. Conflict
2. Stress
3. Frustration

4. Maladjustment
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According to Erickson High School children face this psycho social
critical situation.

1. Industry vs Inferiority

2. Initiative vs Guilt

3. Role Identity vs Role confusion

4. Intimacy vs Isolation
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According to Thorndike this part of the brain influences mechanical
intelligence by controlling motor skills of a person.

1. Diencephalon

2. Fore Brain

3. Hind Brain

4. Mid Brain
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In the stages of Human development this stage is called as
'Adjustment stage'

l. Adulthood

2. Middle age

3. Adolescence

4. Childhood
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The child is habituated to drink milk through feeding bottle. When
offered milk in a tumbler instead of feeding bottle, first he tries his
old way of drinking i.e., sucking, afterwards he picks up the new
way of drinking. This cognitive process is called

1. Accommodation
2. Assimilation
3. Organization

4. Equilibrium
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Ramesh has to cross the river and go to neighbouring village to write
exams. One day he is unable to attend the exam due to floods. The
obstacle faced by Ramesh is

1. Social Environment obstacle

2 Physical obstacle

3. Physical Environment obstacle
4 Mental obstacle
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The play in which children do not share their play things but imitate
one another and continue their plays is known as

1. Solitary play
2 Parallel play
3. Social play

4 Symbolic play
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Sumanth learnt to play cricket, now he wants to learn computer. The
type of transfer of learning in this context is

1. Positive transfer
2. Negative transfer
3. Zero transfer

4. Bilateral transfer
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Ganesh learnt a list of 25 meaningless words in 20 attempts. After
one month, when he was asked to relearn the same list, he took 14
attempts to learn. Saving score of Ganesh is
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Sumalatha doesn’t know Sanskrit, but she can recite Sanskrit slokas
in Bhagavatgeetha without any mistake. The memory of Sumalatha
1s

1. Passive Memory

2 Rote Memory

3. Logical Memory

4 Sensory Memor
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Direct, Indirect, alternative and self reinforcement were proposed by

1. Bandura
2 Skinner
3. Pavlov

4 Vygotsky
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Author of the book “Animal Intelligence : Experimental Studies”

1.

2
3.
4

Thurstone
Skinner
Thorndike
Kohler
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In Pavlov experiment, the dog salivated only for the sound of the
bell for which it was conditioned, but not salivating to other sounds.
This is because of

1
2
3.
4

Stimulus generalization
Stimulus discrimination
Extinction

Higher order conditioning
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The first person who used teaching machines is

1. Pavlov
2. Thorndike
3. Pressey

4. Freud
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Scaffolding means

1. Offering support
2 Prediction

3. Near

4 Making parts
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One of the following is related to psychomotor domain
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Imitation
Analysis
Responding
Valuing
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The most appropriate meaning of learning is

1.

2
3.
4

Acquisition of skill
Modification of behaviour
Personal adjustment

Gathering information
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In the order of teaching mentally-retarded awarding points, money
etc. is regarded as this type of reinforcement.

1 Social

2 Secondary

3. Primary

4 Natural
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During Enquiry based learning, the student

1. Gives importance to product rather than process

2. Depends on teacher to get knowledge

3. Uses inquiry for learning

4. Depends on bookish knowledge
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The correct statement with regard to opinions of Piaget and Bruner
on teaching process is

1. Piaget opines that there is no relation between teaching and
maturity of the child

2. Bruner opines maturity of the child is most important for
teaching.

3. Bruner opines that there is no relation between teaching and
maturity of the child

4. There is no difference of opinion between Piaget and Bruner

with regard to teaching and maturity of the child
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According to Bartlet, the leader who process special competency in a

particular area and can show impact on a group though they have no
relation with the members of the group

1. Experts

2. Institutional leaders
3. Dominant leaders
4. Persuasive leaders
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Right to expression belongs to this category of child rights

1.

2
3.
4

Right to participate
Right to Survive
Protection Rights
Right to develop

smHHms eeefllu@szmd 2 flemp  GwHems 2 Menwserfler
BeUUDSLILIMLIQET SLD 6UTHEUG)

1.
2.
3.
4.

LURIGEBMemEnD 2 flemd
aumpld 2 rflemip
ungismiL 2_flemp

Wpeir@ermd 2 rflemid

As per CCE the teacher responsible to teach Art and culture
education is

1.
2.
3.
4,

Language Teacher
Mathematics Teacher
Physical Education Teacher

Science Teacher
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The following is not the concept of NCF-2005 with regard to
Languages

1.

English should have a place on par with other Indian
languages

2. Home language is not required
Preparation of subject wise dictionaries lessens the burden of
the students.

4. Language is a source for enriching the social life.
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The right of Education is

l.
2
3.
4

S606fl

related to Access only
related to Enrollment and Access only
related to Access, Enrollment, Quality and Equity

related to Access, Enrollment and Quality only
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ewmp etedTLg LieoGaum)| @65 LIDSSMHISEHLEN Faloul H&8He0meot

SlewIbLIL| eT6tTM H(HSG 6\5fleflsgeurn

1 QDMTHESL
2. LjesThLD
3. srodledrenrit

4. LIT6U6DITE)



56.

57.

58.

@M Gussnenfledr 2 ewgenws CaHLGLEUNG eTaubHenMm
gHmIS6STeTeT CeueiI(BLD ETeUMEMM ETIHMISEHT6TENS Fal Mg
EEIIYID HHSMS VD CaHLL6d Smedr

1. Guss CamunenL MujD CsHLL6v

2. efifleunest GeumuMemL. SNUD B&HLL6d

3. mletorenfll GaumiumienL. SHPNUD G L6d

4. Gurfleor Gaumium-emL. Sinujd BsLL6D

Gl FemeLsH L eugeuemIDLIL - 200585@ IQLUILIEDLILITS
sflemhiBuw SIN&ens

1. RSSO IR S DAN&Hens:

2. Gansail HmESHL HNMHHS

3. QwMP&OLIGs560 euribL| SeiT

4. GEOLDWMDHM 606l AHNNSHemas

ewmPl M6y euemTEALLET DML HBSHTTSHEMSW|LD

ewrauigeflenL G eueniss: GeustorBLD 6TeNTenID (&SB! GHT&SLD

Q\&MetuTL.  SMLIGSHED

1. s6flenas HMHLIGSH60
2. HWSHSH HMHLINGSH60

3. 605560018 &HLIG560

4. 2 emIHenL SMLIGS60



59.

60.

SMIS&HWSSIL GUMLIRSHE HEWNIH WL

1.

awMPenwsSEHEGLD O\Fweodpsnpuied @ Liifleuns BreudsaLBLD

QEMELRSTLITL eflememum®
BT GunBsev
FPSHS OSITLITL

LD6BT GUEMLILLD

YNNG

L eop 3655 wSLIE
2. LwesTum-® SI®
3. eulgeusmLbLIL| LOSLIIB
4, 4o wSIG



61.

62.

63.

ENGLISH - PART- I

Hari made an earth-shaking decision.

The synonym of 'earth-shaking' is:

1.
2.
3.
4.

valuable
dangerous
important

small

I finished my dinner. Then my father came.

The above sentences can be combined as:

1. As my father came in, I finished my dinner

2. After my father came, I finished my dinner

3. I finished my dinner, so my father came in

4. My father came in after I had finished my dinner
This is a beautiful story, ....................

Choose the correct question tag to complete this sentence

Sl

isn't this ?
isn't it ?
doesn't it ?

is this ?



64.

65.

66.

67.

The cow gives milk.

The correct 'Yes / No' question of this sentence is:

1. Is the cow gives milk ?

2. Does the cow gives milk ?
3. Does the cow give milk ?
4.

Did the cow give milk ?

Are you studying .......... for your exams ?

Choose the grammatically correct form of the word to complete the
meaning of the above sentence.

1. Very serious
2. Serious
3. Seriously

4. Seriousness

The contracted form of 'will not' is :

1. wouldn't
2. will not ?
3. won't ?
4. II'not ?

The verb form of 'pretension' is:

1. pretende
2. pretene
3. preten
4. pretend



68.

69.

70.

71.

If there .......... trees, there would be no life on earth

Choose the grammatically and meaningfully correct expression to

fill in the blank.
1. not were
2. was not
3. were no
4. are no

Raman passed away on November 21, 1970.

The meaning of 'passed away' is:

1.
2.
3.
4,

Choose the word that means 'the study of the cultures of the past'.

1.

2
3.
4

death
killed

was killed
died

Archaeology
Physiology
Psychology
Geology

Choose the sentence that has a defining relative clause.

el A

Hari, who is my friend, has won the prize.
Swathi, who is my daughter, has passed the exam.
Mohan who came from Guntur stood first.

She said that she was good at English.



72.

73.

74.

75.

'A person who hates women' is:

1. misogynist
2. fatalist

3. monogamy
4. ambiguous

I do not have enough clothes for my journey.

This sentence expresses:

1. capacity
2. inadequacy
3. doubt

4. possibility

He goes to .......... school regularly.

Choose the article that fits the context

1. a

2. an

3. the

4. No article is needed.

Seeing the police, the thief ran away.

This sentence is:

1. a compound sentence
2. a conditional sentence
3. a simple sentence

4. a complex sentence



76.  Choose the word with wrong spelling.

1. precocious
2 moustache
3. straight
4

vulger

[ 77-79] — Read the following passage and choose the correct answers to

the questions given after

Journalists argue over functions of a newspaper. 1 feel that a
provincial paper's purpose is not only to present and project the news
objectively and imaginatively, but to help its readers to express themselves
more articulate their demands. A newspaper should reflect the community
it serves warts and all. When the mirror is held to society it reveals neglect,
injustice, ignorance or complacency. It should help to eradicate them. It
would be pretentious to think that a newspaper can change the course of
world affairs — but at the local limit, it can exert influence, it can probe, it
can help get things done. The individual's voice must not be stifled. Instead,
the reader should be encouraged to express their opinions, fears, hopes and
their grievances on this platform.

77.  The following is the purpose of a newspaper.

1. To present facts in a blunt way

2. To encourage the readers to be pretentious

3. To project news objectively and imaginatively
4. To exert influences on the individuals.



78.

79.

80.

1.

The readers can air their grievances:

1. by writing to their local newspaper
2. by writing to local officials

3. by supporting the local newspaper
4.

by being complacent

Choose the false statement.

1. Newspaper should help its readers to express themselves.
2. Newspapers should reflect the community it serves.

3. Newspapers should not stifle the individual's voice.

4. Journalists never argue over the functions of a newspaper.

He is not good. He is not kind.

These two sentences can be combined as:

1. He is neither good nor kind.

2. He is not good but kind.
3. He is good and kind.
4. He is either good or kind.

Choose the sentence that expresses ability.

She can pass the examination.
She will pass the examination.

She may help you.

b=

She should help you.



82.

83.

84.

85.

I had scarcely put the phone down

Choose the correct word to complete the meaning of the sentence

above.

1. later

2 than

3. when

4 then
Choose the word that can be used to write an adverbial clause of
condition;

1. If

2 As

3. Since

4 Because

Choose the correct spelling of the word.

1.

2.
3.
4.

rejuvenate
rijivinate
rijuvenate

rejuvinate

'Syllabification' means:

Sl

breaking a word into syllables
combining two syllables into one
removing vowel sounds from words

adding a consonant to every syllable

it rang again.



86.

87.

88.

Choose the word that has the stress on the first syllable.

1.

2
3.
4

debate
downstairs
vibrate

electrical

The two main types of evaluation are

[S—

syllabus and Curriculum
descriptive and objective
deductive and inductive

formative and summative

Reinforcement is a skill that involves

el

revision and recognition

recalling and reordering

recapitulation

repetition, summarizing, probing questions, clarification and

tllustration.



89.

90.

(CLT) Communicative Language Teaching believes that

1. Language learning happens best when the atmosphere is

relaxed and learner receives encouragement

2. Language learning happens when the atmosphere is rule
based
3. Language learning happens best when the teacher dominates

the class while teaching.
4. Language learning happens when reading is given top

priority.

The king who commissioned scholars to translate the English Bible
and write it in modern English is

l. King Herod

2. King Moses
3. King Joseph
4. King James



91.

92.

93.

MATHEMATICS & SCIENCE - PART- 1V

If ~2 = 1.4142 then the value of /E is equal to
J2+1

V2 =1.4142 aefied ﬁ: &1 DAL
1. 5.8232
2. 24142
3. 04142
4. 0.1718

The two digit number which is square number and also cube number
1s

SPSHETLOUDNNED,  (LPID6UTSHS 616001  LDOMID  LPLPSHETIT
6TGUOTEUD)(LDITETT  RT6TTTIQ60EES  6T600T

1 81

2 64

3. 49

4 27

In BA X B3 = 57A, BA, B3 are two digit numbers and 57A is a 3
digit number then the value of A + B

BA X B3 = 57A, @m& BA, B3 aetiuemey QUevongeoss
eTeoT6T, GLDAYILD STA 6T60TLIS @(H eP6eiINNesHs 6T6vor  6T6vflev

A+B 6T AL
1.

~N N DN

2.
3.
4



94.

95.

If cost price of 6 articles is equal to selling price of 4 articles then,
the percentage of gain is

6 ewnmLsefler eummdw eflemeowinestg, 4 QL serflesr
efibm efemevs@ & erevlled oo F&elisLd

1. 12%%
2. 25%
3. 50%
4 75%

In what time Rs. 800 amount to Rs. 882 at 5% per annum

compounded annually is

. 800 61630TD E\HMEMEHS, UBLESDSG 5% FaLBeulle
6igD eb. 882 ps GHeMEUILBLD SHT6vLd

1. 2 e(pLLD
2. 11 6U(HLLD
2

3. 1 eu@pLLD

1 .
4, — GU(HLLD
> @&



96.

917.

If the 2™ term of an A.P is 13 and 5" term is 25 then its 7™ term is

R SalBsOSTLfler 26ugh 2 miy 13, wOMID Seug 2 M
25 etevfled  7eug 2 mili,

1. 30
2 33
3. 37
4 38

If % is a root of the equation x° +Kx—% = 0 then the value of K and

second root respectively are

1. l and 2
4
2. —2 and >
2
3. 2 and -
2
1
4, — and 2
2

x2+Kx—% = 0 6TeWILD FLDGITLIMLIQETT  (H ey)smb% eiesfleo K
657 LDSLIL| LDHMID GTETITLMEUS eLPEOLD

1. % DHmID 2

2. -2 wpmib %
3. 2 womnib _7

4, % )



98.

99.

100.

< |

+ £ = 1 (x,y # 0) then the value of x’—y’ is
X

T+ 2o 1 (@ue x,y£0) aefleo X - e Y
y X
1 1
2. -1
3.0
s
2

Let A = {x | x is a multiple of 3 lies between 1 and 100}
B = {x| x in a prime number less than 20}
Then n(A) + n(B) is
A = {x | x er6tTLIg) 1(LpFHE01006UEHITUNCOMTETT 3 63T LDLIHISSHET |
B = {x | x eT6tTLg] 205G GEDMOUNTETT LIS 6T600T |
etevfled n(A) + n(B) 61 LDSLIL]

1. 33
2. 38
3. 40
4. 41

If Set ‘A’ has 64 subsets, then number of elements in Set ‘A’
‘A’ 60D SHEWISHDG 64 2 L SHEWIMHISHET 2_6iTorTeuT eT6vfled

sewilD ‘A’ 60 2 eiten 2 ML serfledr eretorenvllsena

1 4
2. 6
3. 8
4. 32



101.

102.

103.

The length of the diagonals of rhombus are 16cm and 12cm. Then
the length of the side of the rhombus is (in cm).

M FnUFHISHe cpemeveilLhiseafler BermhssT 16 61F.15.
OMID 12 61&.15. elevlled HFaFmisHTSHe LSS Herb
®&.5. &)

l. 8
2. 9
3. 10
4. 20

AABC ~ AEDF and AABC is not similar to ADEF which of the

following is not true.

AABC ~ AEDF Gweyidb AABC Spevig ADEF 66 aue\aunsss
Sisveo eTerlled SpamevorLeupMled Flwimenr Fapm HedeoNSHS)

1 BC.EF = AC.FD
2 AB.EF = AC.DE
3. BC.DE = AB.EF
4 BC.DE = AB.FD

It is known that if x +y =10 then x +y +z = 10+z. The Euclid’s
axiom that illustrates the statement is ...

x +y =10 eteoflo x + y + z = 10+z eleD SapOIEEIS),
upserfliget B&HHHHICHTEBLET CSTLITLIEDLWIS)

1. P60 HHGHIGHT6IT
SUetTLMD &(HHICHTET

WPETTOMD  HHGHIBSHTET

Sl

IBTENTHMD  &(HGICSHTET



104.

105.

The Points A(9, 0) B(9, 6) C(—9, 6) and D(—9, 0) are the vertices of

1. Square

2. Rectangle
3. Rhombus
4. Trapezium

A(9, 0) B(9, 6) C(—9, 6) wibmib D(—9, 0) ereqid Leireaemen
2 _gdl56NNs 6\STETOIL. 6UIQEILD

1 FHIOLD

2 6\&F6U6USLD
3. FMUGS|TLD
4 gifleussid

If line segment P_Q intersects Y-axis and X-axis at P and Q

respectively. The mid point of P_Q is (2, —5) then the co-ordinates
of P and Q are respectively.

P wpmib Q egmb Ueteflast  wpeomGw Y  wpmib X
SlFsHemeT Ol BHeiTmesr. Geyd (2, —5) ereiTLg) P_Q 60T
eowwilijerefl eteofl P bOMID Q 61 Dpw DiEH  HNOMHISET
wpemmGul,

. (0, =5) wbmubd (2, 0)
(2, 0) wbmud (0, —5)
(0, 4) bmud (—10, 0)
(0, —10) bmb (4, 0)

S



106. Ifx> 0 and y <0 then the point (—x, y) is lies in quadrant is
1. Quadrant-I
2. Quadrant-II
3. Quadrant-III
4. Quadrant-1V
x>0 Geyd y <0 ereofled (—x,y) etemud Leiterfl SlemLpULD
STOLGS
1. PS60 HMEOLIGH
2 SIewILMD &TeoLGS
3. PETOIMD  ST6VLIGS
4

[BTENT&MD &HTOLIGS

107. The formula to find the lateral surface area of cylinder is
1 27 rh sq. units
2 27 r (h+r) sq. units
3. 7 r’h sq. units
4

1t 1l sq. units
RH 2 (HEWTUTET EUEDETSHETLILITLIENL SHTEWTLISDSTEN SGHSILD

2nrth & OGS
21 r (htr) & SeoGS6T

1 r’h & Do SH6iT

oW

T 1] &F. HOGH6T



108.

109.

110.

The length of the longest pole that can be placed in a room of

dimensions 10m X 10m X 5m is (in metres)

10m X 10mx 5m uflewmbrhisenens OSmewiL  Hemmuded

MEUGS (WPlehs HLSHET HPaurs Bemd (B. )

1 10

2 15

3. 20

4 25

The base of right angled triangle is 8cm and hypotenuse 17cm then
its area is (in sq. cms)

R OFRGHTEILPECEHTSH6 JieliLsHD 8 .5, hmID
ONgetT sievord 176)18.15. erevfled DigetT LmLILeTey F.O\&F.15. 60)

l. 60
2. 68
3. 120
4. 136

The mean of five numbers is 30, if one number is excluded, their
mean becomes 28 then the excluded number is

@hg eaenseflesr gomefl 30 SpGWLD. HeubmMedmba R
cTevoTemetl  [hadevrmed  FumEdfl 28 Ops  LDMHOHDENLEME|
eTevfled B HSLILILL  erevoT,

1. 28
2. 30
3. 35
4, 38



111. The median of a frequency distribution is found graphically with the
help of
1. Histogram
2 Frequency Curve
3. Frequency Polygon
4

Ogive Curve

Q@b BoDe6uetT LTaedlest (pHEML SPSHSTEILD 6TbhS
auenIULSH6T 2 seflujLeit SHetTBLIRESS (LplQULD?

Q\F6U6NS GUEMTLILLD
1B&LDE6UETIT  EUEMETEUEDIT

B&LDE6U6TT  LIGOBSHTEDTLD

= LN

62316)  EUEMEITEUEDT

112. A bag contains 3 red balls, 5 white balls and 7 black balls then the
probability that a ball drawn at random will be neither red nor black
1s
@wm ewuufed 3 dleuiybBm, 5 QeustemenBM DOHMILD 7 SH(HEWLD
By  UbB ST 2 eTenesr.  Feumwll — (pempuiled il
oLUTeNBHBE Saly DHebeons, SH(HEWD BMAPLD  SHEVEOTS
QM UhG eT@GLILSHSTEN B&HDSS6)

. 1
5
). 1
3
3. 2
3
4. L
15



113.

114.

If tan (A + B) = V3 and tan (A—B)= % (A, B are acute) then

NE)
the value of tan 3A
tan(A + B)= 3 OMID tan(A-B) = % (A, B
GSNIMIGHTETTHIS6IT) T6vfled tan 3A 601 LDELIL
1. 0
2. 1
3. —1

4. Not defined ( euewIWMISHS LPIQUITE)] )

A pole stands vertically on the ground. 20m long rope tied from the
top of vertical pole to nail at a point on the ground. If the angle
made by the rope with ground level is 30° then the height of the pole

in meters is

@ SuwTeg Beosdest 15g OFhIGHSTS BOLUSHSTS

20 5. Bemapsiter sulbmmed Sgeir 2 sHuledlapbg LpSlulesr
g 2 eitem @ YemafluLetr QemevorasLILLBeTengl. He
sulpneng) LlujLer 30° Ganewsms abLGSSIEDS eefed
sbusBett 2 wgd ( rLifle))

1. 20

2. 10

3. 103
.2

NE)



115. The author of the book “Data” is
1. Pythagoras
2. Euclid
3. Thales
4. Archimedes
“GLLm (Data)” elenild LGa&sH601 Spdflwirt
1. Lsnsmen
2. upserflL
3. B560610
4. OHTSLlIgero
116. The academic standard relating to present Mathematics text book is
1. Understanding
2. Application
3. Communication

4. Skill
SHELUTMFHW SHetolls LUMLLILSSsMmsefed 2 eTar &SHeveflssD

1. Yib&ie\smemenge0
2. LWIETLIBSS1S560

3. SHEUOS6IT

4. Bmedt



117. Limitation in Analytic Method
1. Long Procedure
2. Logical Method
3. Develops Heuristic attitude
4. Clarity in conceptual understanding

UGLY wenpuledT &emmun®

1. BevorL euLl(Lpemm
2. SITEHSHLPEDM

3. sevTLMlpemmenul GLLIGSSISDS

4. UML&BSDS Lfbgis6snsmengedlsd agefle

118. The software that doesn’t useful to Mathematics teaching and
learning
1. Geogebra
2. Equation Grapher
3. Mathcad
4. Chemdraw
&60fle SHDMEYHS LIWEITLILIS 6IDESTEWLIMIHET

1 AGwim Bligm

2 r&HGeu6es SImUIm
3. GssL

4 6\&LDIQT



119.

120.

The question form that does not belong to objective type
1. Multiple choice

2. Essay type

3. Matching

4. Alternative responses

ymeuwefleorm euemsuieo Gspms eflevtm euems

ueo e\gifley eflevrm
SL(Benr efevrm
OINBSHSIS
LDIHMI6NENS  efleorT

N

The plan that is not an internal part of instructional planning
1 Curriculum
2 Annual plan
3. Unit plan

4 Lesson plan

sDLISSH0 'L E5H0 IHMISHDE0ETSH SILID

1. SEWEVSHL LD

N

ST (BSPLLLD

3. SHOGSLLLD

>

UMLSSLLLD



121.

122.

The role of aeration in "waste water treatment plant" is to

l.
2.
3.
4.

change the odour
kill the germs
filter the waste material

break down the waste material faster

sfeybiT &sdafiy BeneowsHeo smhHmmLedler Geuemev

1.
2.
3.
4.

EUTFEMEVTENII  LDITDMIFH60
mistorauflHemen 1&me0ey560
SLPSLIOLIMBLSEMET 6UIQSL (BEHED

sifleyuaunmLsmer Gousons AN BSHeTTS 2 WL &560

Solar eclipse occurs when

1.
2.
3.
4.

Shadow of moon falls on earth
Shadow of sun falls on earth
Shadow of moon falls on sun

Shadow of sun falls on moon

&iflu Spsewid CHmeimieug

1.
2.
3.

abPresilett Bped LpSlulledr L5g eMpLDGLING
gflwesledr Biped Lyslufiedt 5g efpbGLINg
amPuesilett Bped gflwedtr g efwbGUNE)
gflwesllesr Biped Frbdrevilesr g efpbGLING



123.

124.

If the incident ray makes an angle of 37° with the plane mirror, then
the angle of reflection is

@ &g Speuist 158 LESST 37° CHTESMS 2 HEINSHGSLD
Gung erdComefiiy sdflesr Gsmevorid

1.

2
3.
4

37°
53¢
127°
0°

A magician during a show has placed a glass lens of refractive index
1.47 in a trough of liquid and made it to disappear. The refractive
index of the liquid is

1.
2.
3.
4,

W)

Equal to 1.47
More than 1.47
Less than 1.47
0

LDMWMERMeOD &M@  Baopsduied  smdussnom, 1.47

erfeflevmed 6T600T 2 6WLUI (H SHEUITETINY  616V6TTENTF  HITEUGSHIT6V
BriuiurL  ungHIsHed emeusE LDMUDTSSETT  elevfled  Dbs
Sreus et erfleflevssd erevor

1.
2.
3.

1.47 &@ &I
1.47 eflL P&
1.47 6flL @ewmey
0



125. Special design of aeroplane is to

1. Reduce static friction
2. Increase static friction
3. Reduce fluid friction

4. Increase fluid friction

SOpsM efDTeTTSHH6ST FMLILITEST 6UIREUEWLDLIL

1. Beweo 2_gmiienel Gemms&s
2. Beweo 2_gmuieney iBsifss
3. UMD 2 Jrlene) Genmés
4. UM 2 gmienel iPs&s

126.  Which of the following is a natural magnet.
1. Electromagnet

2. Alnico magnet
3. Load stone magnet
4. Neodymium magnet

SpSSHEILUDNEd SUIHENS SHMHSLD eTeTTLILIBOUS)
1. LT SMTHSLD
Ope0BCSHT HMHSLD

GeOML&MEHET HMHSHLD

L

BOWIMEDLLAWID SHMHIFLD



127.

128.

Dry hydrogen chloride gas is not an acid, because it does not

contain,

1. Neutrons

2. Hydrogens

3. Hydrogen ions

4.

Hydroxyl ions

2 eolf emamLgReT &GemmenI(® UM SiSleoLiLetoremL 61LMe6Ne06med
ageeniesilen Geunnjled emer G6vemev

1.
2.
3.
4.

Bup L omesT&erT
EWEUDL TER63TSH6T
WL TER6T SHWlesll &6

emamLITsHerdl SlwevflgeT

The correct statement regarding to the reactivity of metals is

1.
2.
3.
4.

Copper is unable to displace zinc from zinc sulphate
Copper is unable to displace iron from iron sulphate
Iron is unable to displace zinc from zinc sulphate

Zinc is able to displace copper from copper sulphate

2 Geonamaseflet  efleweiBmemesILl  OLNBSSH  SLpSHBETILUDMI60
giflwmenr sabm)

1.

kg FeoCLLIeBHE Mmi&ens, STiLITe GLLUOLIWITES
QFUIW  SUIeong).

Sy F6oCULIReN(BHE SHLDemL, STLILITTE0
SLuouwnnsdl QFuw Quleons.

g F60CLILIEN[HHE misHens, @HLOLITEd @LLGLWLITES
QFIW  SuIeong).

SMULT s60CLILIeN[BHE SMLILIEDT, Hhismed @LUeLwTss)

QFWW SWey|Lb.



129.

130.

131.

The reaction in which a solid gets separated from the solution is

1. Neutralization reaction
2. Sublimation reaction
3. Precipitation reaction
4. Redox reaction

semIgedledphg SLLOLnmensTl Nfs0sbGHSWD efleneut
1 TBBBEMEVILITSS60  6flement

2 LISMRISHLDTS 60

3. efilpLigeunsaeo eflenest

4 anhn b5 eflemesr

Which of the following sets of quantum numbers are not possible?
SLDSHETTLEUDNNED GEUTETITLLD 6T600TSH6Tl60T GH(LDHHEDHHES
OLNGBESTSS

1. n=1,7/=1, m=0, m=+%

2. n=1, /=0, m=0, m=+1%

3. n=2,1=1, m=1, m=+1%

4, n=2, /=1, m=0, m=+1%

The incorrect pair among the following is

l. chalcogen - sulphur
2. halogen — chlorine

3. noble gas - oxygen

4. alkali metal — sodium

SpsaeiL Gxmeserfled Heummesr Gzamie
1. &me0BaITeR60T - F6OLIT

2 Gamevgzetrt - &Germiflesr

3. LDTBS6UMUL| - Sphd:elez60T
4

&y 2 Geomsd - Gameuild



132. The one and only method available to extract highly reactive metals
from their ores is

l. auto reduction
2. smelting

3. liquation

4. electrolysis

985 efeneniBHMetT E\HTTL 2 CEONSmHISHENT SHeunmesT
sngssefedlmba NflsasGas0 LwWeTUBLD 6T @b wPenm

=

& B&HSLD
2 2 madl Nfsas®5560
3. 2_(H&HESS6V

4 L\ 6BTETTTDLIS 560



133.

134.

A carrier woman for colour blindness marries a normal man. Their
children will be...

1. 50% girls are colour blind, All boys normal
2. 50% girls are carriers, 50% boys colour blind
3. All girls are normal, All boys colour blind

4. 50% girls, 50% boys colour blind

Br&@®;G wiuey GCsflwm @nd eFeouem) 6STeuTL 66w,

ereueflsy  GSEMOLITBHEBD B606ONG DHeTT  QIHEUHT  H(HLDETOTLD

QFWWD GUTE DOUTHEHHS LIDSSID GLHENSEHET.  .......

1. 50% 6ewr GLHDSHET  [BOSEGSHLISEID,  Spetor
GLHMSHET SEMETTOUHLD  GEDOLMLOHMILD LADLILITTSET

2. 50% 66T GPHmSSHET IUew CaMwmsemmaaD, e
GLHMSHET HMEEUIHLD BNSHSHLISOID LAMLILITTS6T

3. 66060 EILIEWT  GLHENSHEBD  GEDDLIML HDEUTSHETTSHELD,
6T6060IT SHEWT GLPHENSHEBLD [BNEGHLISGOID LADLILITTSET.

4. 50% 6T GLHMSHEHD, 50%  SHEVTSLPIHEDSHSHEBHLD
BO&&SmLIS NDLILTTS6T

The organisms with hollow bones

1. Fishes
2. Frogs

3. Birds

4. Reptiles

2 simefLipm ereybLimemem (Hollow Bones) €\&mevor 2 udiflewrid

1. LBedras6i
2. SEUDETSH6IT
3. LIDEDEUSET

4, DeniTeU6HT



135.

136.

Identify the pair of plants with complete flower

1.

Ipomea and Cucumber

2. Datura and Cucumber

3. Cucumber and Hibiscus

4. Hibiscus and Ipomea

SIDSBEVTLEUDMIEd  (LPIDEMLDWIMEST  LDEDITSH6IT  6)SHIT6TOTL
&evorLm)

1 gumSwim HMID E\exsiTerl

2.
3.
4

2emDGENG LDHMID Gl6usiTenl
QeueTertfl LDHMID E\FDLIHSS
6\FLDLMHSS LDMHMID g3LImLsiuIm

Pick out the disease caused by Bacteria

1.
2.
3.
4,

Mumps
Malaria
Tuberculosis

polio

Gussieflwmeflevrmed erHUGL Gl

1.

2
3.
4

L|L'LITEOLDEMLD
oGeorfluir
&neCbmul

GumedGwur

Gezmeemuwl



137. Pick out non secondary sexual character from the following

1. The organs to identify boys and girls
2. Growth of hair on chest

3. Growth of hair at the genital organs
4. Growth of breasts in girls

SlpsaerTLeuDled ‘ @revorLmbBemed LIMEOLISTITLISH6T Ee0eongg)
618)|?

1 GPIHEDS, SHETIT?6ILIETITETOIT? 61607 SHEWTLMILID 2 MILIL|S6T
2 MTUSL LGHUTed (LpleueThge0

3. Woiymiiy ugSsefled wpigeueTHS6D
4

GWetorsefléd LOMTLS 6euerTTEs

138. In humans the equilibrium of the body is maintained by
1. Hands

2 Vestibular apparatus
3. Cochlea
4 Organ of Corti

2 | 60631 &LDIBEmEL LIMSLILIHLIIMTDED SHT&HGSWD 2 MILIL|

1. DSHGHEIT

2. eeueviLlupeomT HEBLITL 6
3. BSHWS Sal CILEYILDL|

4. GarmiTe 2 ML



139.

140.

The worker bee in the honey comb is
1. Fertile Male

2. Sterile Male
3. Fertile Female

4. Sterile Female

Gz6tr FalLBd 6\HMGLILND CoueneosEnr CHert Q(b...
1 STLIOLIBSESS SOETLNGS Sh6vor

DO D600

BILOLIHSSHS HDEITLOGES 6ILI6ToT

Ll

6oL B 6LI6voT

The low light intensity area in a fresh water lake is

1. Littoral zone

2. Euphotic zone
3. Profundal zone
4, Limnetic zone

mettesfit gl GbBewev  etTLEOGHD  @erflEnEney
2 eiten LGS

1. 60I.GLMT6L  LDEUOTL 60LD
2. upGLIMQE LDETOTL 60LD
3. LGOITL6TITL6D  LD6TITL 60LD
4. 6VILD6UTIQE  LDETITL.60LD

GSEWDUTS



141.

The correct sequence in the formation of urine.

1.

Tubular re-absorption — Glomerular filtration — Tubular
secretion — Hypertonic Urine.

Tubular re-absorption — Tubular secretion — Glomerular
filtration — Hypertonic Urine.

Glomerular filtration — Tubular re-absorption — Tubular
secretion — Hypertonic Urine.

Glomerular filtration — Tubular secretion — Tubular
re-absorption — Hypertonic Urine.

b 2 meanab wevpullsir Fflwner euflens Beweo

1.

GLpeoserfled M| 2 nflehsided —>  SemLDerh6OIT

QRS BH0 —> GPevsefled &ISFHHO —> LSS WSHS
Amyrbir.

&Lpevgerfled DM 2 Mleh&sHed — GLPEVS6Tl0 HIS5H0 —>

SeTMDeHeOT QRS BHO — LTSS WSHS Ambi.
SemeTDEHEOIT QUESHLBH0 —>GLpevsefled M 2 Nlehsiseo
—@pesafled &I5H560 —IILTGS OGBS Hmib.
SeNDEHEOIT QUL BHEO —>GSLPEVSEI6 &iI5560

— Gpevseafleo M 2 Mlehssed — LGS GHS
Amyrbir.



142. The circular DNA is present in

143.

A) Bacteria B) Mitochondria C) Golgi D) Plastids
1. A only

2 A and B

3. A,Band D

4 A,Band C

al'L eugey DNA Q\smevor_ene

A) unserflwm B) emworGLm amedrirfluim

C) Gamevems 2 miLiser D) semfllamssit

1.

2.
3.
4

A L@

A wpmib B
A, B wipmb D
A, B pmipo C

The method used to detect cancer is

1.
2.
3.
4,

ECG
MRI
ELISA
BIOPSY

YDOmICHTENW SETTLMILLD (LPemM

1.
2.
3.

ECG
MRI
ELISA
BIOPSY



144. Generally the embryosac in flowering plants will have

1. 6 cells and 6 nuclei
2. 6 cells and 7 nuclei
3. 7 cells and 7 nuclei
4. 7 cells and 8 nuclei

SNSIEWIDNG Lp&HSID STaUTSDHET SDLIewLIUTE0

SmevoTLILI(BLIEm6Y

1. 6 Q\F60&6T DOHMID 6 2 L SH(HESHET
2. 6 Q\F60&6T DOHMID 7 2 L' S(IHSHSH6IT
3. 7 €\F60&6T DMHMID 7 2 L' &(HSHS6IT

4. 7 6\gevsen HmID 8 B smEs6T

145.  One of the following is referred to empirical knowledge

l. Concepts
2. Principles
3. Theories

4. Facts

SDSHETLUDNNE0 Q6N  HEVLIUGEDS HIQLILIEDLWITS  E\SHT6ToTL
Sinflemer O5fleNsSEmE.

1. SH(HSSHIH6T

2 G Ln@s6T

3. C\BTETENSHSH6IT
4

O _600T6LD&6IT



146. The more concrete experience than a demonstration is

1. Radio recording
2. Television
3. Study tours

4, Motionless films

OFWGIST LD DiPs: ST SBened JILIISMmS S(HoLUS)
1 aume\eotmedl Life

2. C\STEDEVSHSITL &
3. SOHMED LILIETOTHISHET
4. BWSHSHLNE0EOT HWILILILMHISET

147. One of the following is a self observation technique

1. Rating scales
2. Interviews

3. Check lists
4. Records

Sp&saLaubed Q6T &W 2 MHMICHTEHSHED [HIET)ISHSLD
1. ST N6 |Gamevd6iT
GrBIT&TETELSH6IT

GEMGHEM6UTLI LI IQUI60S6IT

Ll

LSCeUBSH6IT



148.

149.

Study of Biological Sciences develop knowledge and curiosity and
stimulates search for truth. The value inculcated through this is

1. Intellectual value
2. Moral value

3. Aesthetic value
4. Cultural value

2 uiflemed  SMHLSHET  epeoDMa  Ainjley,  Speued  LDMHMILD
2 ecremenW  C\5MBgISH6SMeTeT  GEUETIT(BLD  6TEIENID  SHTETOTL 6D
auem&fwenLEmg. Ss6iT eumuieons 6usTHLD LDSLIL

1. SiNeunmBg SLIL

2. BEemN wiiy

3. SIPG6EwTT LDSLIL]

4. SEOMFEMT LDPHLIL|

One of the following is not the purpose of lesson plan

1. Teaching proceeds in systematic manner
2. Time is not wasted
3. Enhances self confidence of teacher

4. Teaching proceeds haphazardly

SpSSHEILOUDNIED QTN LINLSSLSS6T CBNHaBD He0ed
1. SDLIGH60 @B PEOOLILIR HEOLOLMSMES)

2. SIT6VLD  61i60TTEUSE06MED

3. Spdliflwlletr geirenbliseme HPsifladns)

>

SDOLIGH60 WMHETHM] (LPTETTLIMLTS HEOLEOLIMIBDE)



150. Development of behavioural competencies through a group of
experiences is

1. Core curriculum
2. Annual plan
3. Lesson plan

4. Unit plan

BLSMS Smeitg:ensm GLIBGSSHID SieiLemgeflen &wGsy
1 (LPSEITENID  SHEWEVSHL L LD

2. QUBLNHET SULID

3. UMLSSL L LD

4. S0 SLULID



